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3 M1,M2,M3 ST
2 P.Q

P 1(kg) Q 1(kg)

A 15(kl) 11(kl) 1650(kl/ )

B 10(kl) 14(kl) 1400(kl/ )

C 9(kl) 20(kl) 1800(kl/ )
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formulation
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k Objective function
& minimiz;

maximize z=5x,+4x, max. z=5x. +4x
subject to 15x,+11x, 1650| [\ 15,115 1650
10x,+14x, 1400 i> 10x,+14x, 1400
9x,+20x, 1800 9x,+20x, 1800
X, 0 X % 0
X, 0
subject to:
\—‘ Constraints
optimal solution
max. z=5x;+4X,
s.t. 15x;+11x, 1650 ‘ .
10x,+14%, 1400 gl vl
9x,+20x, 1800 feasible solution
XX, 0 \_‘
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feasible region
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globally optimal solution

locally optimal solution
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. X;=2 X,=2
. 8
min. z=2x,+2X, X,=2
s.t. XX, 4 [ 2:]
Q. 4 ?
min. z=x,
s.t. XX, 4 = 0 ?
X, X, 0
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unbounded infeasible

feasibility problem

0

max. z=0x,+0x,

-(:)- s.t.  15x,+11x, 1650

¥ @ 106,+14%, 1400

-@ 9x,+20x, 1800
X, X 0

e 2 P.Q AB
. 1 P,Q
P iml Q1mi
A 3(h) 1(h) 45(h/ )
B 1(h) 2(h) 40(h/ )
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max. z=6x,+5X,
st. 3x;+ X, 45

X;+2x, 40
X, X, 0
1
continuous real
discrete integer
-2 binary 0 0-1
01 2 3 4 5 6
! — X
—d)—o—o—o—o—o—o—»X
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differentiable

non- B—

piecewise linear \
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convex
concave




+Programming

Linear LP
2 2 Quadratic QP
Convex CP
Nonlinear NLP
Integer IP

Discrete Convex

2 0-1 Binary Integer  BIP

Mixed Integer ~ MIP
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|8 /kgl 19/3 kg |5.75

@1 1

X1 kg X, kg X3 kg X4 kg

max. z=8x,+19/3x,+5.75x;+5.6X,
St XytX+ XgtX, 7
X; 2,% 3,%X; 4,%, 5
X1, X5, X3, X, 0




0-1
x=1
x=0
max. z=16x,+19x,+23x,+28x,
st 2X+3X,+4X;t5X, 7
Xy, X1 X3 X4 {0,1}
3
Z,
max. z=16x,+19x,+23x,+28x,
st 2X+3X,+4X5t5X, 7 R
Xl’ XZ’ X3’ X4 Z Z,

max. z=16x,+19x,+23x,+28x,
st 2X+3X,+4X;t5X, 7
X Xos X3 Z %, O
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2kg,3kg,4kg,5kg kg
4 5 6 7
0|0 0] 0
o [ o i |
B V3V V4 'V
16| 1 6|16
]

SV N
)| 19| 35| 35| 35
SV—
23| 35| 39| 42
23| 35| 397 44

16 ,19 23 ,28

0o 1 2 3 4 5 6 7
SEl 0_0_16_19 19 35 35 3¢5

FEGL 0 0 16 19723735 39 42

f(k-1,00) k
flk.o) {max{f(k 1 a) (k Y+f(k-1at-(k N}
o

ﬁ> Dynamic Programming DP




spanning; }spanning tree
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30 @ 30
40
©) 5

35+10+30+15=90 40+25+20+15=100 35+25+30+15=105
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Minimum spanning tree problem

Xiji i 1
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min. z=35X;,+40X;3+25X,3+10X,,+15X55+30X 5
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XoztXogtXas 2

4

min. z=35X;,+40X;3+25X,3+10X,,+15X55+30X,5

St Xqo+XygtXogtXostXastXs=4

X12) X131 Xo3, Xour Xa5, X5 {0,1} I
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combinatorial optimization problem

ol )

discrete optimization problem

Kruskal)

11



e O(n?) Fibonacci
O(mf3(m,n))
[ )om)

i
O(m+nlogn)
O(max(m,n)) O(mlog n)

Ackermann

O(m+nlogn)
O(mlog3(m,n))
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